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1) ���: CH3 CH2CHCH3

                          OH
a) CH3CH2CHCH3+Na
��3CH2CHCH3+1/2 H2�

                            OH                                               ONa

b) CH3CH2CHCH3+6NaOH+4J2
��3CH2COONa+CHJ3+5NaJ+5H2O
                   OH

2) CH3CH2CHCH3+SOCl2
��3CH2CHCH3 (B) + SO2����	

                           OH                                                        Cl

CH3CH2CHCH3(B)+NaOH �������    CH3CH=CHCH3(�) +NaCl+H2O
                           Cl

     VCH3CH=CHCH3                  (-CH- CH-)v

                                                     CH3      CH3

                                                                           (E)
5CH3CH2CHCH3+2KMnO4+3H2SO4

��3CH2CCH3+K2SO4+2MnSO4+8H2O

                             �
�              OH                                                       O

                                          (Z)    CH3                               (H)   CH3

CH3CH2CCH3+HCN 
���3CH2C-CN
++ ��� �� � >CH3CH2C-COOH+NH +

�

                                                  OH                                         OH
3) ����	�����
������
��	���������
1mol (A) 
��
�	���3CH2COONa & 1mol CHJ3

; 0,2             ;0,2                                  0,2
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CH3CH2COONa
��3CH2COO- +Na+

           - C1                      +C1        +C1

CH3CH2COO- + H2O� CH3CH2COOH+OH-

     C1                               --                      --
    -X                                X      X
 C1-X                               X                      X

Kb� ��
� �
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��	�	����CuSO4+NaOH���
�����	��	�
CH3CH2CH=O+2CuSO4+5NaOH
��3CH2COONa+Cu2O�����2SO4+3H2O
   0,6mol                                             ;0,6mol

�) [CH3CH2COONa]=C1=0,6/6=0,1M
CH3CH2COONa�CH3CH2COO-+Na+

        -C1                     +C1             +C1

CH3CH2COO-+H2O�CH3CH2COOH+OH-

                 C1                     -                   -
                 -X                     X                  X

              C1-X                    X                  X          Kb= �
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PH=9 � POH=5 � X=10-5M

���������C2���
����CH3CH2COONa]
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�� = ������� � �
=20-2=18L

���mol�	�������C1V1=0,1.2=0,2
mol HCl = C2V2=0,1=0,1
CH3CH2COONa+HCl� CH3CH2COOH+NaCl
    ; -0,1               -0,1               +0,1

�����	 ���: CH3CH2COOH:C3=0,1/3M, CH3CH2COONa:C4=0,1/3M
�����������������
�� �����
�������	���
����� �����PH=5


